LA 1

The vapor pressure of ethanol at 308 K is 100.0 mm Hg, and the heat of vaporization of ethanol is 38.6 kJ/mol.  What is the vapor pressure of ethanol in mm Hg at 358 K?

Does your answer make sense?  Explain why it does or does not seem reasonable

LA 2
The density at 20°C of a 1.78 m solution of glucose in water is 1.284 g/mL and the molar mass of glucose is 180.2 g/mol.  What is the molarity of the solution?

LA 3
What is the vapor pressure (in mm Hg) of a sol’n prepared by dissolving 28.0 g of ethyl alcohol (C2H5OH) in 80.0 g of water at 25°C?  The vapor pressure of pure water is 23.8 mm Hg and the vapor pressure of ethyl alcohol is 61.2 mm Hg at 25°C ( MMwater = 18 g/mol,    MMethyl alcohol = 46 g/mol)
Does your calculated vapor pressure seem reasonable?  Why or why not
LA 4
For the following reaction 3 experiments have been run and the data collected is in the following table
A  +  2 B  (  C

	Experiment
	[A], M
	[B], M
	Rate, mol/L s

	1
	2.0 x 10-2
	1.05 x 10-1
	3.5 x 10-6

	2
	2.0 x 10-2
	1.28 x 10-1
	4.25 x 10-6

	3
	2.69 x 10-2
	1.05 x 10-1
	6.3 x 10-6


a) Find the order with respect to A

b) Find the order with respect to B

c) What is the overall order?    

d) Write the rate expression
e) Calculate the rate constant, k

Equations:

M = mol/L





(Rate2 / Rate1) = (Conc2 / Conc1)m
m = mol/kg





ln (K2/K1) = Ea/R [(1/T1) – (1/T2)]

ln (P2/P1) = (H/R [(1/T1) – (1/T2)]




Ptot = (P(A ( XA) + (P(B ( XB)
XA = moles A / total moles
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